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NOTES la-3 graphing a parabola by finding the vertex

_ 2
When a quadratic equation is written in VERTEX FORM, Y = G(X-h) +k finding the
vertex is easy because the coordinates are in the equation. Itis_ (h K).

G h kK
EXAMPLE: vy =’(><-2)2 -5 The vertex point is (2:'5)

14

To graph follow the "1,3,5 pattern” for parabolas.

Remember, parabolas are symmetrical. B A

2
When a quadratic equation is written in BTANDARD FORM, Y = aX +bx+c

we will use the Vertex Formult?< = 20 to find the x-value of the vertex.
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2(* The vertex is at Lg_ ¥).
Thin use substitution to find the y-value.
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s 18-36 + 3 The vertex point is@)ﬁ@)}
To graph follow the "1,3,5 pattern” for parabolas. .
BUT, a=2 so we need to double the pattern i [ x

toa"2, 6, 10 pattern”. f-5i
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When a quadratic equation is written in FACTORED FORM, Y = a(x - r)(x - ry)

The vertex is on the line of symmetry through the midpoint of the x-intercepts.
EXAMPLE: y=lx—1)(x-9) 4
Step 1: Find the x-intercepts: H o '
ety 20 0 = (x -(x-q) et
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The x-intercepts are: (1,0 [9) , .
Step 2: Average the x-intercepts: voofs, 2emes o~
. I+
. 13' (Sik)
XI’?_"’B The vertex is at 5 .Y)

Step 3: Use substitution to find the y-value.
y: (5-1)(5-9)

Y% :_1&4)(_—“5 The vertex point is (61‘ ,(')
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OR, if you love the vertex formula, you can rewrite it in
standard form, then use the vertex formula.



	Page 1
	Page 2

